



Number theory

Powerful numbers in $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ Nombres de la forme $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ qui ne sont pas puissantsQuan-Hui Yang^a, Qing-Qing Zhao^b^a School of Mathematics and Statistics, Nanjing University of Information Science and Technology, Nanjing 210044, China^b Jincheng College, Nanjing University of Aeronautics and Astronautics, Nanjing 211156, China

ARTICLE INFO

Article history:

Received 14 June 2017

Accepted 21 November 2017

Available online 6 December 2017

Presented by the Editorial Board

ABSTRACT

Let q be a positive integer. Recently, Niu and Liu proved that, if $n \geq \max\{q, 1198 - q\}$, then the product $(1^3 + q^3)(2^3 + q^3) \cdots (n^3 + q^3)$ is not a powerful number. In this note, we prove (1) that, for any odd prime power ℓ and $n \geq \max\{q, 11 - q\}$, the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number, and (2) that, for any positive odd integer ℓ , there exists an integer $N_{q,\ell}$ such that, for any positive integer $n \geq N_{q,\ell}$, the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number.

© 2017 Académie des sciences. Published by Elsevier Masson SAS. All rights reserved.

R É S U M É

Soit q un entier positif. Récemment, Niu et Liu ont montré que, si $n \geq \max(q, 1198 - q)$, alors le produit $(1^3 + q^3)(2^3 + q^3) \cdots (n^3 + q^3)$ n'est pas un nombre puissant. Dans cette Note, nous montrons : (1) que le produit $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ n'est pas un nombre puissant pour toute puissance ℓ d'un nombre premier impair et $n \geq \max(q, 11 - q)$; (2) que, pour tout nombre impair positif ℓ , il existe un entier $N_{q,\ell}$ tel que pour tout entier $n \geq N_{q,\ell}$, le produit $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ ne soit pas un nombre puissant.

© 2017 Académie des sciences. Published by Elsevier Masson SAS. All rights reserved.

1. Introduction

A positive integer t is called a powerful number if $t > 1$ and $p^2 \mid t$ for every prime divisor p of t (see [8]). In 2008, Cilleruelo [4] proved that, for any integer $n > 3$, the product $(1^2 + 1)(2^2 + 1) \cdots (n^2 + 1)$ is not a square. Amdeberhan, Medina and Moll [1] claimed that, if $n > 12$ and ℓ is an odd prime, then $(1^\ell + 1)(2^\ell + 1) \cdots (n^\ell + 1)$ is not a square. Gürel and Kisisel [11] confirmed the claim for $\ell = 3$, while Zhang and Wang [18] confirmed the claim for any prime $\ell \geq 5$. In fact, they proved that $(1^\ell + 1)(2^\ell + 1) \cdots (n^\ell + 1)$ is not a powerful number. Later, Chen et al. [2,3] proved that, if ℓ is an odd

E-mail addresses: yangquanhui01@163.com (Q.-H. Yang), zhaoqingqing116@163.com (Q.-Q. Zhao).

<https://doi.org/10.1016/j.crma.2017.11.015>

1631-073X/© 2017 Académie des sciences. Published by Elsevier Masson SAS. All rights reserved.

integer with at most two distinct prime factors, then $(1^\ell + 1)(2^\ell + 1) \cdots (n^\ell + 1)$ is not a powerful number. There are many related results on this topic, one can refer to [5,7,9,10,12,15–17].

Recently, Niu and Liu [13] extended the work of Gürel and Kisisel and proved the following theorem.

Theorem A. For any positive integers q and $n \geq \max\{q, 1198 - q\}$, the product $(1^3 + q^3)(2^3 + q^3) \cdots (n^3 + q^3)$ is not a powerful number.

In this paper, we generalize the results of Niu and Liu in the following theorem.

Theorem 1. Let q be a positive integer and ℓ be an odd prime power. For any integer $n \geq \max\{q, 11 - q\}$, the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number.

The next theorem is a generalization of Theorem 2 in [3].

Theorem 2. For any positive integer q and odd positive integer ℓ , there exists an integer $N_{q,\ell}$ such that, for any positive integer $n \geq N_{q,\ell}$, the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number.

2. Preliminary lemmas

Lemma 1. Let p be a prime and q, ℓ be positive integers with $2 \nmid \ell$ and $\gcd(\ell, p - 1) = 1$. Then the congruence equation $x^\ell + q^\ell \equiv 0 \pmod{p}$ has only one solution $x \equiv -q \pmod{p}$.

Proof. If $p \mid q$, then the congruence equation has only one solution $x \equiv 0 \equiv -q \pmod{p}$; the result is true. Now we assume $p \nmid q$. Let g be a primitive root modulo p . Then $g^{\frac{p-1}{2}} \equiv -1 \pmod{p}$. Let $x \equiv g^t \pmod{p}$, $q \equiv g^m \pmod{p}$, where $0 \leq t, m \leq p - 2$. Then the congruence equation $x^\ell + q^\ell \equiv 0 \pmod{p}$ is equivalent to $g^{t\ell} \equiv g^{\frac{p-1}{2} + m\ell} \pmod{p}$, that is, $\ell t \equiv \frac{p-1}{2} + m\ell \pmod{p-1}$. Since $(\ell, p-1) = 1$, it follows that t has only one solution. Hence x also has only one solution. By $2 \nmid \ell$, it is easy to see that $x \equiv -q \pmod{p}$ is the only solution. \square

Corollary 1. Let q be a positive integer and $\ell = k^s$, where k is an odd prime and s is a positive integer. If p is a prime with $k \nmid p - 1$, then the congruence equation $x^\ell + q^\ell \equiv 0 \pmod{p}$ has only one solution $x \equiv -q \pmod{p}$.

For a nonzero integer m and a prime p , let $\nu_p(m)$ denote the smallest nonnegative integer k such that $p^k \mid m$ and $p^{k+1} \nmid m$.

Lemma 2. Let $\ell = k^s$ be an odd prime power, p be a prime, and q be a positive integer such that $p > q$, $p \neq k$ and $k \nmid p - 1$. If $p - q \leq n \leq 2p - q - 1$, then the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number.

Proof. By Corollary 1, the smallest two positive integers x satisfying $x^\ell + q^\ell \equiv 0 \pmod{p}$ are $p - q$ and $2p - q$. Noting that $p > q$ and $p \neq k$, we have $p^2 \nmid ((p - q)^\ell + q^\ell)$. Hence, if $p - q \leq n \leq 2p - q - 1$, then

$$\nu_p((1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)) = \nu_p((p - q)^\ell + q^\ell) = 1,$$

and so the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number. \square

For any positive integers m and k , let

$$P(m) = \{p : p \text{ is a prime, } \frac{m+1}{2} < p \leq m+1\},$$

$$P(m; k, 1) = \{p : p \text{ is a prime, } \frac{m+1}{2} < p \leq m+1, p \equiv 1 \pmod{k}\}.$$

Lemma 3. (See [18, Lemma 2.3].) If $m \neq 1, 3, 5$ or 9 , then $|P(m)| \geq 2$.

Lemma 4. (See [18, Lemma 2.4].) If $m \geq 4k$, where k is an odd prime with $k \geq 5$, then $|P(m)| > |P(m; k, 1)|$.

Lemma 5. (See [3, Lemma 2].) Let m be an integer with $m \geq 4$ and $m \neq 9$. Then, there is always an odd prime $p \in P(m)$ with $p \equiv 2 \pmod{3}$.

The following lemma is a powerful lemma for solving exponential Diophantine equations. It is pretty well known in the Olympiad folklore (see, e.g., [6]), though its origins are hard to trace.

Lemma 6 (Lifting the exponent lemma). *Let x, y be two integers, ℓ be an odd positive integer, and p be an odd prime such that $p \mid x + y$ and none of x and y is divisible by p . We have:*

$$v_p(x^\ell + y^\ell) = v_p(x + y) + v_p(\ell).$$

3. Proofs of Theorems 1 and 2

Proof of Theorem 1. By Lemma 2, it is enough to prove that there exists a prime $p > q$ with $p \neq k$ and $k \nmid p - 1$ such that $p - q \leq n \leq 2p - q - 1$. It is easy to see that $p - q \leq n \leq 2p - q - 1$ is equivalent to $\frac{n+q}{2} < p \leq n + q$. Since $n \geq q$, it follows that $p > \frac{n+q}{2} \geq q$. Hence we need to prove that there exists a prime $p \neq k$ with $p \not\equiv 1 \pmod{k}$ such that $\frac{n+q}{2} < p \leq n + q$.

By $n \geq 11 - q$, we have $n + q - 1 \geq 10$. Hence, by Lemma 3, we obtain

$$|P(n + q - 1)| \geq 2. \tag{1}$$

Suppose that $k = 3$. Since $n + q - 1 \geq 10$, by Lemma 5, there exists an odd prime p with $p \equiv 2 \pmod{3}$ such that $\frac{n+q}{2} < p \leq n + q$. It is clear that $p \neq 3$.

Now we assume $k \geq 5$.

Case 1. $n < 2k - q + 1$. If $p \in P(n + q - 1; k, 1)$, then $p \equiv 1 \pmod{k}$ and $p \geq 2k + 1 > n + q$, which is a contradiction. Hence, $|P(n + q - 1; k, 1)| = 0$ in this case. Therefore, by (1), there exists at least one prime $p \neq k$ with $p \not\equiv 1 \pmod{k}$ such that $\frac{n+q}{2} < p \leq n + q$.

Case 2. $2k - q + 1 \leq n < 4k - q + 1$. Suppose that $|P(n + q - 1; k, 1)| = |P(n + q - 1)|$. Then $|P(n + q - 1; k, 1)| \geq 2$. Hence, there exist two primes p_1 and p_2 satisfying $p_1 < p_2 \leq n + q < 4k + 1$ and $p_1 \equiv p_2 \equiv 1 \pmod{k}$. It follows that $p_1 \geq 2k + 1$ and $p_2 \geq 4k + 1$, which is a contradiction. Hence $|P(n + q - 1)| > |P(n + q - 1; k, 1)|$. Therefore, there exists a prime p with $p \not\equiv 1 \pmod{k}$ such that $\frac{n+q}{2} < p \leq n + q$. Clearly, $p > \frac{n+q}{2} \geq \frac{2k+1}{2} > k$.

Case 3. $n \geq 4k - q + 1$. It follows that $n + q - 1 \geq 4k$. By Lemma 4, there exists a prime p with $p \not\equiv 1 \pmod{k}$ such that $\frac{n+q}{2} < p \leq n + q$. Clearly, $p > \frac{n+q}{2} \geq \frac{4k+1}{2} > k$.

By three cases above, there exists a prime $p \neq k$ with $p \not\equiv 1 \pmod{k}$ such that $\frac{n+q}{2} < p \leq n + q$.

Therefore, the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is not a powerful number. \square

Proof of Theorem 2. By Dirichlet’s theorem on arithmetic progressions (see [14, p. 285]), there exists an integer $N_{q,\ell} > q$ such that for any integer $n \geq N_{q,\ell}$, there is an odd prime $p \in P(n + q - 1)$ with $p \equiv 2 \pmod{\ell}$. Clearly, $\frac{n+q+1}{2} \leq p \leq n + q$ and $\gcd(p - 1, \ell) = 1$. Suppose that the product $(1^\ell + q^\ell)(2^\ell + q^\ell) \cdots (n^\ell + q^\ell)$ is a powerful number. Noting that $\frac{n+q+1}{2} \leq p \leq n + q$ and $n \geq N_{q,\ell} > q$, we have $p \geq \frac{n+q+1}{2} \geq q + 1$, and so $v_p(\prod_{a=1}^n (a + q)) = 1$. Hence, by

$$\prod_{a=1}^n (a^\ell + q^\ell) = \prod_{a=1}^n (a + q) \cdot \prod_{a=1}^n \frac{a^\ell + q^\ell}{a + q},$$

it follows that $p \mid \frac{a^\ell + q^\ell}{a + q}$ for some $1 \leq a \leq n$. Since $p \mid a^\ell + q^\ell$, $2 \nmid \ell$ and $\gcd(p - 1, \ell) = 1$, by Lemma 1, we have $p \mid a + q$. On the other hand, by $p \equiv 2 \pmod{\ell}$ and $p \geq q + 1$, we have $p \nmid \ell$ and $p \nmid q$, and so $p \nmid a$. Hence, by Lemma 6, we have

$$v_p(a^\ell + q^\ell) = v_p(a + q) + v_p(\ell) = v_p(a + q).$$

That is, $p \nmid \frac{a^\ell + q^\ell}{a + q}$, a contradiction.

This completes the proof of Theorem 2. \square

Acknowledgements

This work was supported by the National Natural Science Foundation for Youth of China, Grants Nos. 11501299 and 11671211, the Natural Science Foundation of Jiangsu Province, Grant Nos. BK20150889, 15KJB110014, and the Startup Foundation for Introducing Talent of NUIST, Grant No. 2014r029.

References

[1] T. Amdeberhan, L.A. Medina, V.H. Moll, Arithmetical properties of a sequence arising from an arctangent sum, *J. Number Theory* 128 (2008) 1807–1846.
 [2] Y.-G. Chen, M.-L. Gong, On the products $(1^\ell + 1)(2^\ell + 1) \cdots (n^\ell + 1)$ II, *J. Number Theory* 144 (2014) 176–187.
 [3] Y.-G. Chen, M.-L. Gong, X.-Z. Ren, On the products $(1^\ell + 1)(2^\ell + 1) \cdots (n^\ell + 1)$, *J. Number Theory* 133 (2013) 2470–2474.
 [4] J. Cilleruelo, Squares in $(1^2 + 1)(2^2 + 1) \cdots (n^2 + 1)$, *J. Number Theory* 128 (2008) 2488–2491.

- [5] J. Cilleruelo, F. Luca, A. Quirós, I.E. Shparlinski, On squares in polynomial products, *Monatshefte Math.* 159 (2010) 215–223.
- [6] S. Cuellar, J.A. Samper, A nice and tricky lemma (lifting the exponent), *Math. Reflec.* 2007 (3) (2007).
- [7] J.-H. Fang, Neither $\prod_{k=1}^n (4k^2 + 1)$ nor $\prod_{k=1}^n (2k(k-1) + 1)$ is a perfect square, *Integers* 9 (2009) 177–180.
- [8] S.W. Golomb, Powerful numbers, *Amer. Math. Mon.* 77 (1970) 848–852.
- [9] E. Gürel, On the occurrence of perfect squares among values of certain polynomial products, *Amer. Math. Mon.* 123 (2016) 597–599.
- [10] E. Gürel, A note on the products $((m+1)^2 + 1) \cdots (n^2 + 1)$ and $((m+1)^3 + 1) \cdots (n^3 + 1)$, *Math. Commun.* 21 (2016) 109–114.
- [11] E. Gürel, A.U.O. Kisisel, A note on the products $(1^u + 1)(2^u + 1) \cdots (n^u + 1)$, *J. Number Theory* 130 (2010) 187–191.
- [12] S.-F. Hong, X. Liu, Squares in $(2^2 - 1) \cdots (n^2 - 1)$ and p -adic valuation, *Asian-Eur. J. Math.* 3 (2010) 329–333.
- [13] C.-Z. Niu, W.-X. Liu, On the products $(1^3 + q^3)(2^3 + q^3) \cdots (n^3 + q^3)$, *J. Number Theory* 180 (2017) 403–409.
- [14] J. Sándor, D.S. Mitrinović, B. Crstici, *Handbook of Number Theory I*, Springer, The Netherlands, 2006.
- [15] P. Spiegelhalter, J. Vandehey, Squares in polynomial product sequences, arXiv:1107.1730.
- [16] S.-C. Yang, A. Togbé, B. He, Diophantine equations with products of consecutive values of a quadratic polynomial, *J. Number Theory* 131 (2011) 1840–1851.
- [17] Z.-F. Zhang, Powers in $\prod_{k=1}^n (ak^{2^l \cdot 3^m} + b)$, *Funct. Approx. Comment. Math.* 46 (2012) 7–13.
- [18] W.-P. Zhang, T.-T. Wang, Powerful numbers in $(1^k + 1)(2^k + 1) \cdots (n^k + 1)$, *J. Number Theory* 132 (2012) 2630–2635.